[mean P, [GeV]

Ratio to ATLAS

N

1.8

1.6

1.4

1.2

0.8

0.6

0.4

no

0.5

13000 GeV pp

LlJndelrIyinlg Event

[ | I T I T I T I T | —1
- Average p, Vs N, (Il < 2.5, p.>0.5GeV,p >1GeV) ]
— B ATLAS i
— -4 Sherpa 1.2.3 default —
B g RN N -
B v _,_.!.--'-- vt _
[ W v -
- 4 i
_—. | | Ly | | | | Ly | | | | | | _
: T T T T | T T T T | T T T T :
_4’_"’_'_‘_0’000"””””

.Q...’...Q...’_..‘...’...‘..-Q

o 10

s

N, (Transverse)

Rivet 3.1.10, 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


